
A A

SECTION A-A

173.8

183.5

( )
FARADAY WINDOW
APERTURE

53.3

FARADAY WINDOW
THICKNESS

1
( )63.5

( )
4.5" CF

113.5

( )140

4

SEE NOTE 4

NOTES:

1. CLEAN, ASSEMBLE AND HANDLE FOR UHV/PARTICLE-FREE SERVICE
   PER ED0003571

2. LEAK CHECK ASSEMBLY. NO LEAK SHALL BE DETECTABLE 
   ON THE MOST SENSITIVE SCALE OF A HELIUM MASS SPECTROMETER 
   LEAK DETECTOR WITH A MINIMUM He SENSITIVITY OF 
   2 X 10-10 ATM-CC/SEC

3. PROTECT SEALING SURFACES FROM DAMAGE AT ALL TIMES,
   SEALING SURFACES SHALL BE FREE FROM SCRATCHES, GOUGES, CHATTER MARKS, ETC.

4. ITEM 4 INCLUDES SINTERED PARTICULATE FILTER (REF: 316L SS, 0.5um MEDIA SIZE)
   FOR AIR ESCAPE DURING CRYOSTAT PUMPDOWN AT CMTS
   BLOW-OFF THROUGH FILTER IN BOTH DIRECTIONS TO ZERO-PARTICLE-COUNT 
   FINAL BLOW-OFF FROM AIR SIDE TOWARDS VACUUM SIDE
   ASSEMBLE FILTER AFTER RAV IS CLOSED FOR SHIPMENT TO CMTS
   TAG-OUT RAV CLOSED WITH METAL CONFIGURATION TAG
   REMOVE FILTER BEFORE PUMPDOWN, VENTUP, OR PURGE THROUGH RAV

5. ALL STAINLESS STEEL HARDWARE SHALL BE ELECTROPOLISHED.

REF:
INTERFACE TO CM
COLD GATE VALVE

TYP

TYP
INSTALL AT 

NEXT LEVEL OF ASSY

20212223

2 FASTENERS AS SHOWN

32 F00459093-A NUT_BACKING_PLATE 2
31 FC0014688-- NUT_HEX,M8x1.25x6.5, 316L SS 12
30 FC0053267-- STUD, M8X40, Ti, ELECTROPOLISHED 12
23 FC0019004-- SEAL,  1.33 CF FLANGE, Cu 1
22 F00393936-- WASHER_FLT_M4X8MMOD_SS316 10
21 FC0041389-- NUT_HEX,M4x.7x3.2,SB 2
20 FC0041940-- SHCS,M4x.7x25LGxFT,SS316L,ROLLED,EP 8
13 FC0019008-- SEAL,  4.5 CF FLANGE, Cu 1
12 FC0016265-- WASHER,M8-8.4x16x1.4,SS316L 28
11 FC0041393-- NUT_HEX,M8x1.25x6.5,SB 8
10 FC0008147-- HHCS,M8x1.25x50LGxFT,SS316 8
4 F10046507-- FILTER, PARTICULATE, CF FLANGE MOUNT 1
3 FC0048055-- VALVE ANGLE VAT-54124-GE02 1
2 F10040909-- WINDOW, LCLS-II CM FARADAY PORT 1
1 F10045762-A WELDMENT, FARADAY WINDOW MANIFOLD 1

PC NO PART NAME DB PART NAME QTY

2
10 11 12 13

3

20 22 23

1

303112

32 TYP

T
E

M
P

LA
T

E
 V

E
R

S
IO

N
: 
2
0
1
8
.1

2
.0

3

UNLESS OTHERWISE SPECIFIED

X X.X X.XX X/X X

2 0.3 0.12 N/A 1

BREAK ALL SHARP EDGES, MAX: 0.5
DO NOT SCALE DRAWING
DIMENSIONS BASED ON: ASME Y14.5-2009
MAX MACHINE ALL SURFACES: 3.2
DRAWING UNITS:  MM

THIRD ANGLE PROJECTION

DRAWN C.BAFFES DATE 24-Aug-2015
CHECKED Y.ORLOV DATE 02-Sep-2015
APPROVED M.MCGEE DATE 02-Sep-2015
USED ON

F10009887, F10014812, F10041166,
F10127865, F10128463

MATERIAL

SEE PARTS LIST
GROUP: Accelerator Mechanical Support CAGE CODE: OU5R6

FERMI NATIONAL ACCELERATOR LABORATORY
UNITED STATES DEPARTMENT OF ENERGY

NAME

MANIFOLD, LCLS-II CM, FARADAY
WINDOW

SCALE SIZE DRAWING NUMBER SHEET REV

1:2 A2 F10040886 1 OF 1 C

REV REVISION CONTROL DOCUMENT DATES SIGNATURES

C F10040886-C-RCD 03-Dec-2020 DRAWN M.KRAMP
03-Dec-2020 APPROVED B.HARTSELL

DESCRIPTION: MANIFOLD, LCLS-II CM, FARADAY WINDOW

PROJECT: LCLSIICryogenics

CATEGORY: MANIFOLD

1

A

1

A

2

B

2

B

3

C

3

C

4

D

4

D

C

C


